Exeter Borough Sanitary and Storm Sewer Rehabilitation Project

Bid Date: January 31, 2025 Official Tabulation of Bids

	Area 1	Area 2	Area 3	Area 2A	Areas 1,2,3	Areas 1,2A,3
Contractor						
Pioneer Construction Co. Inc	\$3,042,287.50	\$1,460,957.30	\$2,491,815.22	\$1,797,589.41	\$6,995,060.02	\$7,331,692.13
Kriger Construction Inc.	£2 500 457 40	<b>#4 540 040 70</b>	<b>#0.005.007.00</b>	#4 504 070 70	Φ7.040.404.40	<b>07.047.040.40</b>
Riger Construction Inc.	\$3,500,157.10	\$1,512,349.70	\$2,835,987.60	\$1,581,673.70	\$7,848,494.40	\$7,917,818.40
DI E Catamariana	#5 00 4 000 00	<b>#</b> 0.050.000.00	40.000.000.00	00.400.400.00	242 422 222	
RLE Enterprises	\$5,084,300.00	\$2,356,300.00	\$2,980,053.50	\$2,122,400.00	\$10,420,653.50	\$10,186,753.50
James T. O'Hara Inc.	\$10,554,150.00	\$4,073,650.00	\$3,262,963.00	\$2,883,800.00	\$17,890,763.00	\$16,700,913.00

The Bid Tabulation above is a true and accurate tabulation of the Bids received, opened and read publically on January 31, 2025 at the Exeter Borough Building.

Timethy C. Holden P.E.

PennEastern Engineers LLC

2-4-2025

Date

Exeter Borough Sewer ProjectBid Date January 31, 2025
Bid TabulationWyoming Avenue North

Pioneer Construction Compay Inc.

	0	Lance
Kriger	Construction	inc.

RLE Enterprises

James T. O'Hara Inc.

ITEM NO	. DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL
1	Test Pits	20	EA	\$2,100.00	\$42,000.00	\$1,775.00	\$35,500.00	\$500.00	\$10,000.00	\$5,000.00	\$100,000.00
2	15" SLCCP Storm Line	349	LF	\$170.00	\$59,330.00	\$167.50	\$58,457.50	\$225.00	\$78,525.00	\$1,000.00	\$349,000.00
3	18" SLCCP Storm Line	240	LF	\$189.00	\$45,360.00	\$222.50	\$53,400.00	\$235.00	\$56,400.00	\$1,000.00	\$240,000.00
4	24" SLCCP Storm Line	2,750	LF	\$136.00	\$374,000.00	\$182.50	\$501,875.00	\$265.00	\$728,750.00	\$750.00	\$2,062,500.00
5	PA DOT STD Storm Inlets	22	EA	\$3,595.00	\$79,090.00	\$4,000.00	\$88,000.00	\$6,000.00	\$132,000.00	\$8,000.00	\$176,000.00
6	48" Dia. Conc. Storm Manhole	. 4	EA	\$4,560.00	\$18,240.00	\$6,500.00	\$26,000.00	\$14,000.00	\$56,000.00	\$10,000.00	\$40,000.00
7	60" Dia. Conc. Storm Manhole	6	EA	\$5,670.00	\$34,020.00	\$12,500.00	\$75,000.00	\$15,500.00	\$93,000.00	\$13,000.00	\$78,000.00
8	72" Dia. Conc. Storm Manhole	2	EA	\$6,830.00	\$13,660.00	\$25,000.00	\$50,000.00	\$17,000.00	\$34,000.00	\$20,000.00	\$40,000.00
9	8" PVC SDR-35 Sanitary Sewer Pipe	20	LF	\$115.00	\$2,300.00	\$200.00	\$4,000.00	\$230.00	\$4,600.00	\$1,300.00	\$26,000.00
10	12" PVC SDR-35 Sanitary Sewer Pipe	40	LF	\$123.00	\$4,920.00	\$225.00	\$9,000.00	\$240.00	\$9,600.00	\$1,000.00	\$40,000.00
11	18" PVC SDR-35 Sanitary Sewer Pipe	2900	LF	\$137.00	\$397,300.00	\$197.50	\$572,750.00	\$265.00	\$768,500.00	\$835.00	\$2,421,500.00
12	6" PVC SDR-35 Sanitary Sewer Lateral	2770	LF	\$147.00	\$407,190.00	\$99.50	\$275,615.00	\$375.00	\$1,038,750.00	\$700.00	\$1,939,000.00
13	Sanitary Sewer Lateral Wye Connection	121	EA	\$1,141.00	\$138,061.00	\$2,000.00	\$242,000.00	\$1,250.00	\$151,250.00	\$1,500.00	\$181,500.00
14	Televise Sewer Laterals	1,250	LF	\$7.73	\$9,662.50	\$15.00	\$18,750.00	\$25.00	\$31,250.00	\$100.00	\$125,000.00
15	6" Sanitary Sewer Lateral Cleanout	121	EA	\$360.00	\$43,560.00	\$1,000.00	\$121,000.00	\$500.00	\$60,500.00	\$1,750.00	\$211,750.00
16	48" Dia. Conc. Sanitary Manhole	8	EA	\$7,500.00	\$60,000.00	\$6,500.00	\$52,000.00	\$16,000.00	\$128,000.00	\$12,000.00	\$96,000.00
17	60" Dia. Conc. Sanitary Manhole	2	EA	\$8,675.00	\$17,350.00	\$8,500.00	\$17,000.00	\$17,000.00	\$34,000.00	\$15,000.00	\$30,000.00
18	Connect Ex. San. Sewer to New San. MH	6	EA	\$700.00	\$4,200.00	\$3,500.00	\$21,000.00	\$3,500.00	\$21,000.00	\$1,000.00	\$6,000.00

20	Connect Ex. St. Sewer to New St. MH  State Trench Rest: 8" Subbase, 5" 25mm	ESTIMATED QUANTITY	UNIT	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.					
20	State Trench Rest: 8" Subbase, 5" 25mm	2	ΕΛ			onthi Mozimania Eng.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL
			LA	\$700.00	\$1,400.00	\$3,500.00	\$7,000.00	\$3,500.00	\$7,000.00	\$1,500.00	\$3,000.00
	& 1.5" 9.5mm	5,325	SY	\$51.68	\$275,196.00	\$52.50	\$279,562.50	\$92.00	\$489,900.00	\$70.00	\$372,750.00
21	Local Trench Rest.:6" Subbase&4.5"25mm	50	SY	\$41.40	\$2,070.00	\$52.50	\$2,625.00	\$77.00	\$3,850.00	\$100.00	\$5,000.00
22	9.5mm Wearing Course, 1.5" - Local Rds.	50	SY	\$15.96	\$798.00	\$32.50	\$1,625.00	\$21.00	\$1,050.00	\$50.00	\$2,500.00
23	Concrete Walks	350	SY	\$92.00	\$32,200.00	\$150.00	\$52,500.00	\$207.00	\$72,450.00	\$130.00	\$45,500.00
24	Concrete Drive Restoration	120	SY	\$125.00	\$15,000.00	\$175.00	\$21,000.00	\$173.00	\$20,760.00	\$180.00	\$21,600.00
25	Asphalt Drive Restoration	40	SY	\$78.15	\$3,126.00	\$100.00	\$4,000.00	<u>\$101.00</u>	\$4,040.00	\$140.00	\$5,600.00
26	Lawn Rest.: 4" Topsoil, Mulch & Seed	200	SY	\$12.00	\$2,400.00	\$30.00	\$6,000.00	\$18.00	\$3,600.00	\$20.00	\$4,000.00
27	Concrete Curb Replacement	4,625	LF	\$42.00	\$194,250.00	\$55.00	\$254,375.00	\$53.00	\$245,125.00	\$90.00	\$416,250.00
28	PA DOT 2A Stone Trench Backfill	31,000.00	TON	\$15.75	\$488,250.00	\$10.00	\$310,000.00	\$13.00	\$403,000.00	\$23.00	\$713,000.00
29	AASHTO #3 Stone for Unsuitable Areas	1400	TON	\$47.00	\$65,800.00	\$25.00	\$35,000.00	\$21.00	\$29,400.00	\$60.00	\$84,000.00
30	Temporary Pavement	4700	S.Y.	\$23.82	\$111,954.00	\$20.00	\$94,000.00	\$24.00	\$112,800.00	\$26.00	\$122,200.00
		130	LF	\$70.00	\$9,100.00	\$100.00	\$13,000.00	\$40.00	\$5,200.00	\$50.00	\$6,500.00
	5-100 A 20 - 100 P (2000) 19 miles (49 miles (49 miles (40 miles (	1	LS	\$90,500.00	\$90,500.00	\$198,122.10	\$198,122.10	\$250,000.00	\$250,000.00	590000	\$590,000.00
<b>7</b> T A I	MANOMINO AVENUE MORTUTO FRE	STDEET									
		DIKEEI			\$3,042,287.50	_	\$3,500,157.10		\$5,084,300.00		\$10,554,150.00
	21 22 23 24 25 26 27 28 29 30 31 32		21       Local Trench Rest.:6" Subbase&4.5"25mm       50         22       9.5mm Wearing Course, 1.5" - Local Rds.       50         23       Concrete Walks       350         24       Concrete Drive Restoration       120         25       Asphalt Drive Restoration       40         26       Lawn Rest.: 4" Topsoil, Mulch & Seed       200         27       Concrete Curb Replacement       4,625         28       PA DOT 2A Stone Trench Backfill       31,000.00         29       AASHTO #3 Stone for Unsuitable Areas       1400         30       Temporary Pavement       4700         31       Pipe Abandonment STORM Grant Lincoln, Penn       130         32       MPT, insurance, Bonds & Misc. 1       1         Not of Exceed 6% of total of items 1 through 31       1	21       Local Trench Rest.:6" Subbase&4.5"25mm       50       SY         22       9.5mm Wearing Course, 1.5" - Local Rds.       50       SY         23       Concrete Walks       350       SY         24       Concrete Drive Restoration       120       SY         25       Asphalt Drive Restoration       40       SY         26       Lawn Rest.: 4" Topsoil, Mulch & Seed       200       SY         27       Concrete Curb Replacement       4,625       LF         28       PA DOT 2A Stone Trench Backfill       31,000.00       TON         29       AASHTO #3 Stone for Unsuitable Areas       1400       TON         30       Temporary Pavement       4700       S.Y.         31       Pipe Abandonment STORM       130       LF         32       MPT,insurance, Bonds & Misc.       1       LS         DTAL WYOMING AVENUE NORTH TO ERIE STREET	21       Local Trench Rest.:6" Subbase&4.5"25mm       50       SY       \$41.40         22       9.5mm Wearing Course, 1.5" - Local Rds.       50       SY       \$15.96         23       Concrete Walks       350       SY       \$92.00         24       Concrete Drive Restoration       120       SY       \$125.00         25       Asphalt Drive Restoration       40       SY       \$78.15         26       Lawn Rest.: 4" Topsoil, Mulch & Seed       200       SY       \$12.00         27       Concrete Curb Replacement       4,625       LF       \$42.00         28       PA DOT 2A Stone Trench Backfill       31,000.00       TON       \$15.75         29       AASHTO #3 Stone for Unsuitable Areas       1400       TON       \$47.00         30       Temporary Pavement       4700       S.Y.       \$23.82         31       Pipe Abandonment STORM Grant Lincoln, Penn       130       LF       \$70.00         32       MPT, insurance, Bonds & Misc. Not ot Exceed 6% of total of items 1 through 31       1       LS       \$90,500.00         DTAL WYOMING AVENUE NORTH TO ERIE STREET	21       Local Trench Rest.:6" Subbase&4.5"25mm       50       SY       \$41.40       \$2,070.00         22       9.5mm Wearing Course, 1.5" - Local Rds.       50       SY       \$15.96       \$798.00         23       Concrete Walks       350       SY       \$92.00       \$32,200.00         24       Concrete Drive Restoration       120       SY       \$125.00       \$15,000.00         25       Asphalt Drive Restoration       40       SY       \$78.15       \$3,126.00         26       Lawn Rest.: 4" Topsoil, Mulch & Seed       200       SY       \$12.00       \$2,400.00         27       Concrete Curb Replacement       4,625       LF       \$42.00       \$194,250.00         28       PA DOT 2A Stone Trench Backfill       31,000.00       TON       \$15.75       \$488,250.00         29       AASHTO #3 Stone for Unsuitable Areas       1400       TON       \$47.00       \$65,800.00         30       Temporary Pavement       4700       S.Y.       \$23.82       \$111,954.00         31       Pipe Abandonment STORM       130       LF       \$70.00       \$9,100.00         32       MPT, insurance, Bonds & Misc.       1       LS       \$90,500.00       \$90,500.00         DTAL W	21         Local Trench Rest.6° Subbase&4.5°25mm         50         SY         \$41.40         \$2,070.00         \$52.50           22         9.5mm Wearing Course, 1.5° - Local Rds.         50         SY         \$15.96         \$798.00         \$32.50           23         Concrete Walks         350         SY         \$92.00         \$32.200.00         \$150.00           24         Concrete Drive Restoration         120         SY         \$125.00         \$15,000.00         \$175.00           25         Asphalt Drive Restoration         40         SY         \$78.15         \$3,126.00         \$100.00           26         Lawn Rest.: 4" Topsoil, Mulch & Seed         200         SY         \$12.00         \$2,400.00         \$30.00           27         Concrete Curb Replacement         4,625         LF         \$42.00         \$194,250.00         \$55.00           28         PA DOT 2A Stone Trench Backfill         31,000.00         TON         \$15.75         \$488,250.00         \$10.00           29         AASHTO #3 Stone for Unsuitable Areas         1400         TON         \$47.00         \$65,800.00         \$25.00           30         Temporary Pavement         4700         S.Y.         \$23.82         \$111,954.00         \$100.00	21   Local Trench Rest. 6" Subbase & 4.5"25mm   50   SY   \$41.40   \$2,670.00   \$52.50   \$2,625.00     22   9.5mm Wearing Course, 1.5" - Local Rds.   50   SY   \$15.96   \$798.00   \$32.50   \$1,625.00     23   Concrete Walks   350   SY   \$92.00   \$32.200.00   \$150.00   \$52,500.00     24   Concrete Drive Restoration   120   SY   \$125.00   \$15,000.00   \$175.00   \$21,000.00     25   Asphalt Drive Restoration   40   SY   \$78.15   \$3,126.00   \$100.00   \$4,000.00     26   Lawn Rest. 4" Topsoli, Mulch & Seed   200   SY   \$12.00   \$2,400.00   \$30.00   \$6,000.00     27   Concrete Curb Replacement   4,625   LF   \$42.00   \$194,250.00   \$55.00   \$254,375.00     28   PA DOT 2A Stone Trench Backfill   31,000.00   TON   \$15.75   \$488,250.00   \$10.00   \$310.00   \$310.00.00     29   AASHTO #3 Stone for Unsulfable Areas   1400   TON   \$47.00   \$65,800.00   \$25.00   \$35,000.00     30   Temporary Pavement   4700   S.Y.   \$23.82   \$111,954.00   \$20.00   \$94,000.00     31   Pipe Abandonment — STORM   130   LF   \$70.00   \$9,100.00   \$100.00   \$188,122.10     32   MPT, Insurance, Bonds & Misc.   1   LS   \$90,500.00   \$90,500.00   \$198,122.10   \$198,122.10     DTAL WYOMING AVENUE NORTH TO ERIE STREET	Local Trench Rest.6' Subbase&4 5'25mm   50   SY   \$4140   \$2,070.00   \$52.60   \$2,625.00   \$77.00		Local Trench Rest. of Subbase & 4725mm   50   SY   \$41.40   \$2,000.00   \$52.50   \$12,858.00   \$177.00   \$3,850.00   \$50.00

Kriger Construction Inc.

Pioneer Construction Compay Inc.

RLE Enterprises

James T. O'Hara Inc

Exeter Borough Sewer Project--Bid Date January 31, 2025

Exeter Borough Sewer Project--Bid Date January 31, 2025 Pioneer Construction Compay Inc. Kriger Construction Inc. RLE Enterprises

Bid Tabulation - Wyoming Avenue South

ITEM NO	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL
1	Test Pits	20	EA	\$2,100.00	\$42,000.00	\$1,775.00	\$35,500.00	\$500.00	\$10,000.00	\$5,000.00	\$100,000.00
2	15" SLCCP Storm Line	144	LF	\$170.00	\$24,480.00	\$167.50	\$24,120.00	\$400.00	\$57,600.00	\$1,000.00	\$144,000.00
3	18" SLCCP Storm Line	140	LF	\$189.00	\$26,460.00	\$222.50	\$31,150.00	\$400.00	\$56,000.00	\$1,000.00	\$140,000.00
4	24" SLCCP Storm Line	1,350	LF	\$152.00	\$205,200.00	\$182.50	\$246,375.00	\$400.00	\$540,000.00	\$700.00	\$945,000.00
5	PA DOT STD Storm Inlets	11	EA	\$2,980.00	\$32,780.00	\$4,000.00	\$44,000.00	\$6,000.00	\$66,000.00	\$8,000.00	\$88,000.00
6	48" Dia. Conc. Storm Manhole	1	EA	\$5,270.00	\$5,270.00	\$6,500.00	\$6,500.00	\$20,000.00	\$20,000.00	\$9,000.00	\$9,000.00
7	10" PVC SDR-35 Sanitary Sewer Pipe	20	LF	\$190.00	\$3,800.00	\$215.00	\$4,300.00	\$300.00	\$6,000.00	\$1,000.00	\$20,000.00
8	12" PVC SDR-35 Sanitary Sewer Pipe	60	LF	\$156.00	\$9,360.00	\$225.00	\$13,500.00	\$300.00	\$18,000.00	\$400.00	\$24,000.00
9	18" PVC SDR-35 Sanitary Sewer Pipe	1320	LF	\$225.00	\$297,000.00	\$247.50	\$326,700.00	\$400.00	\$528,000.00	\$830.00	\$1,095,600.00
10	6" PVC SDR-35 Sanitary Sewer Lateral	400	LF	\$240.00	\$96,000.00	\$99.50	\$39,800.00	\$280.00	\$112,000.00	\$1,000.00	\$400,000.00
11	Sanitary Sewer Lateral Wye Connection	25	EA	\$1,141.00	\$28,525.00	\$2,000.00	\$50,000.00	\$1,250.00	\$31,250.00	\$1,500.00	\$37,500.00
12	6" Sanitary Sewer Lateral Cleanout	25	EA	\$360.00	\$9,000.00	\$1,000.00	\$25,000.00	\$500.00	\$12,500.00	\$2,250.00	\$56,250.00
13	48" Dia. Conc. Sanitary Manhole	2	EA	\$11,475.00	\$22,950.00	\$6,500.00	\$13,000.00	\$20,000.00	\$40,000.00	\$10,000.00	\$20,000.00
14	Connect Ex. San. Sewer to New San. MH	4	EA	\$700.00	\$2,800.00	\$3,500.00	\$14,000.00	\$4,000.00	\$16,000.00	\$1,300.00	\$5,200.00
15	Connect Ex. St. Sewer to New St. MH	1	EA	\$700.00	\$700.00	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00	\$1,500.00	\$1,500.00
	State Trench Rest: 8" Subbase, 5" 25mm & 1.5" 9.5mm	300	SY	\$51.68	\$15,504.00	\$52.50	\$15,750.00	\$95.00	\$28,500.00	\$90.00	\$27,000.00
17	Local Trench Rest.:6" Subbase&4.5"25mm	230	SY	\$41.40	\$9,522.00	\$52.50	\$12,075.00	\$70.00	\$16,100.00	\$50.00	\$11,500.00
18	9.5mm Wearing Course, 1.5" - Local Rds.	230	SY	\$15.96	\$3,670.80	\$32.50	\$7,475.00	\$20.00	\$4,600.00	\$20.00	\$4,600.00
19	Concrete Walks	750	SY	\$92.00	\$69,000.00	\$150.00	\$112,500.00	\$202.00	\$151,500.00	\$130.00	\$97,500.00

James T. O'Hara Inc.

LACTO	Borough Cowor Froject Bla Bate Garlaar	, 01, 2020		Tiorical Constituction Co	mpay mo.	ranger construction inc.		THE Emorphiese			
Bid Ta	bulationWyoming Avenue South										
ITEM NO	D. DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL
20	Concrete Drive Restoration	40	SY	\$125.00	\$5,000.00	\$175.00	\$7,000.00	\$190.00	\$7,600.00	\$200.00	\$8,000.00
21	Asphalt Drive Restoration	1,050	SY	\$78.15	\$82,057.50	\$100.00	\$105,000.00	\$84.00	\$88,200.00	\$50.00	\$52,500.00
23	Lawn Rest.: 4" Topsoil, Mulch & Seed	725	SY	\$12.00	\$8,700.00	\$20.00	\$14,500.00	\$18.00	\$13,050.00	\$20.00	\$14,500.00
24	Concrete Curb Replacement	1,400	LF	\$42.00	\$58,800.00	\$55.00	\$77,000.00	\$53.00	\$74,200.00	\$90.00	\$126,000.00
25	PA DOT 2A Stone Trench Backfill	13,000	TON	<u>\$15.75</u>	\$204,750.00	\$10.00	\$130,000.00	\$13.00	\$169,000.00	\$23.00	\$299,000.00
26	AASHTO #3 Stone for Unsuitable Areas	600	TON	\$47.00	\$28,200.00	\$25.00	\$15,000.00	\$21.00	\$12,600.00	\$60.00	\$36,000.00
27	Temporary Pavement	400	S.Y.	\$23.82	\$9,528.00	\$20.00	\$8,000.00	\$24.00	\$9,600.00	\$30.00	\$12,000.00
28	60" Dia. Conc. Storm Manhole	4	EA	\$9,800.00	\$39,200.00	\$7,500.00	\$30,000.00	\$22,000.00	\$88,000.00	\$11,000.00	\$44,000.00
29	60" Dia. Conc. Sanitary Manhole	2	EA	\$15,100.00	\$30,200.00	\$7,500.00	\$15,000.00	\$22,000.00	\$44,000.00	\$15,000.00	\$30,000.00
30	MPT,insurance, Bonds & Misc.  Not ot Exceed 6% of total of items 1 through 29	1	LS	\$90,500.00	\$90,500.00	\$85,604.70	\$85,604.70	\$130,000.00	\$130,000.00	\$225,000.00	\$225,000.00
TOTAL	. WYOMING AVENUE SOUTH			<del>.</del>	\$1,460,957.30		\$1,512,349.70	-	\$2,356,300.00	_	\$4,073,650.00

RLE Enterprises

Kriger Construction Inc.

James T. O'Hara Inc.

Exeter Borough Sewer Project--Bid Date January 31, 2025

ITEMS 1 THROUGH 30

Pioneer Construction Compay Inc.

	Exeter Borough Sewer ProjectBid Date January 31, 2025 Bid Tabulation -Schooley Avenue			Pioneer Construction Co	ompay Inc.	Kriger Construction Inc.		RLE Enterprises		James T. O'Hara Inc.	
ITEM NO	D. DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL
1	Test Pits	20	EA	\$2,100.00	\$42,000.00	\$1,775.00	\$35,500.00	\$500.00	\$10,000.00	\$2,000.00	\$40,000.00
2	15" SLCCP Storm Line	313	LF	\$170.00	\$53,210.00	\$167.50	\$52,427.50	\$255.00	\$79,815.00	\$380.00	\$118,940.00
3	18" SLCCP Storm Line	725	LF	\$189.00	\$137,025.00	\$222.50	\$161,312.50	\$255.00	\$184,875.00	\$200.00	\$145,000.00
4	24" SLCCP Storm Line	75	LF	\$202.00	\$15,150.00	\$182.50	\$13,687.50	\$400.00	\$30,000.00	\$550.00	\$41,250.00
5	36" SLCCP Storm Line	13	LF	\$530.00	\$6,890.00	\$282.50	\$3,672.50	\$400.00	\$5,200.00	\$1,200.00	\$15,600.00
6	48" Dia. Conc. Storm Line	832	LF	\$490.00	\$407,680.00	\$672.50	\$559,520.00	\$380.00	\$316,160.00	\$500.00	\$416,000.00
7	PA DOT STD Storm Inlets	23	EA	\$3,345.00	\$76,935.00	\$4,000.00	\$92,000.00	\$6,000.00	\$138,000.00	\$3,800.00	\$87,400.00
8	48" Dia. Conc. Storm Manhole	2	EA	\$4,480.00	\$8,960.00	\$6,500:00	\$13,000.00	\$16,500.00	\$33,000.00	\$5,000.00	\$10,000.00
9	60" Dia. Conc. Storm Manhole	2	EA	\$8,480.00	\$16,960.00	\$12,500.00	\$25,000.00	\$17,500.00	\$35,000.00	\$6,350.00	\$12,700.00
10	72" Dia. Conc. Storm Manhole	5	EA	\$12,600.00	\$63,000.00	\$25,000.00	\$125,000.00	\$20,000.00	\$100,000.00	\$11,000.00	\$55,000.00
11	84" Dia. Conc. Storm Manhole	6	EA	\$13,500.00	\$81,000.00	\$32,500.00	\$195,000.00	\$22,000.00	\$132,000.00	\$16,000.00	\$96,000.00
12	8" PVC SDR-35 Sanitary Sewer Pipe	40	LF	\$115.00	\$4,600.00	\$200.00	\$8,000.00	\$400.00	\$16,000.00	\$350.00	\$14,000.00
13	12" PVC SDR-35 Sanitary Sewer Pipe	70	LF	\$143.00	\$10,010.00	\$225.00	\$15,750.00	\$400.00	\$28,000.00	\$1,000.00	\$70,000.00
14	18" PVC SDR-35 Sanitary Sewer Pipe	470	LF	\$210.00	\$98,700.00	\$247.50	\$116,325.00	\$400.00	\$188,000.00	\$550.00	\$258,500.00
15	24" PVC SDR-35 Sanitary Sewer Pipe	28	LF	\$490.00	\$13,720.00	\$247.50	\$6,930.00	\$500.00	\$14,000.00	\$1,400.00	\$39,200.00

\$467.50

\$97.50

\$2,000.00

\$1,000.00

Rehab. Ex. 30"x45" Conc. San. Sewer

17 6" PVC SDR-35 Sanitary Sewer Lateral

18 Sanitary Sewer Lateral Wye Connection

19 6" Sanitary Sewer Lateral Cleanout

\$544.00

\$240.00

\$1,141.00

\$360.00

660

\$448,800.00

\$158,400.00

\$34,230.00

\$10,800.00

\$385,687.50

\$64,350.00

\$60,000.00

\$30,000.00

\$412,500.00

\$247,500.00

\$37,500.00

\$15,000.00

\$500.00

\$375.00

\$1,250.00

\$500.00

\$550.00

\$200.00

\$4,600.00

\$2,700.00

\$453,750.00

\$132,000.00

\$138,000.00

\$81,000.00

Bid Tal	bulation -Schooley Avenue										
ITEM NO	. DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL
20	48" Dia. Conc. Sanitary Manhole	5	EA	\$7,700.00	\$38,500.00	\$6,500.00	\$32,500.00	\$16,500.00	\$82,500.00	\$11,500.00	\$57,500.00
21	60" Dia. Conc. Sanitary Manhole	2	EA	\$10,300.00	\$20,600.00	\$8,500.00	\$17,000.00	\$17,500.00	\$35,000.00	\$14,000.00	\$28,000.00
22	72" Dia. Conc. Sanitary Manhole	3	EA	\$13,850.00	\$41,550.00	\$12,500.00	\$37,500.00	\$20,000.00	\$60,000.00	\$30,000.00	\$90,000.00
23	State Trench Rest: 6" Subbase, 4" 25mm & 2.5" 19mm, incl. Cl. 4 Geotextile	1,434	SY	\$88.84	\$127,396.56	\$52.50	\$75,285.00	\$92.00	\$131,928.00	\$70.00	\$100,380.00
24	Local Trench Rest.:6" Subbase&4.5"25mm	1,557	SY	\$41.40	\$64,459.80	\$52.50	\$81,742.50	\$68.00	\$105,876.00	\$40.00	\$62,280.00
25	9.5mm Wearing Course - Temporary, 1.5"	2,991	SY	\$15.96	\$47,736.36	\$20.00	\$59,820.00	\$24.50	\$73,279.50	\$13.00	\$38,883.00
26	Temp. Walk Rest.: 4" 2A Stone, 3" 9.5mm	150	SY	\$44.58	\$6,687.00	\$50.00	\$7,500.00	\$25.00	\$3,750.00	\$50.00	\$7,500.00
27	Temp. Drive Rest.: 6" Sub, 3" 19mm	410	SY	\$54.76	\$22,451.60	\$40.00	\$16,400.00	\$25.00	\$10,250.00	\$50.00	\$20,500.00
28	Lawn Rest.: 4" Topsoil, Mulch & Seed	150	SY	\$12.00	\$1,800.00	\$20.00	\$3,000.00	\$18.00	\$2,700.00	\$20.00	\$3,000.00
29	X-Country Rest.: Straw Mulch & Seed	250	SY	\$12.00	\$3,000.00	\$15.00	\$3,750.00	\$18.00_	\$4,500.00	\$10.00	\$2,500.00
30	Temp. Asphalt Curb Replacement	560	LF	\$5.68	\$3,180.80	\$20.00	\$11,200.00	\$3.50	\$1,960.00	\$5.00	\$2,800.00
31	PA DOT 2A Stone Trench Backfill	14,570	TON	\$15.75	\$229,477.50	\$10.00	\$145,700.00	\$13.00	\$189,410.00	\$24.00	\$349,680.00
32	AASHTO #3 Stone for Unsuitable Areas	200	TON	\$47.00	\$9,400.00	\$15.00	\$3,000.00	\$21.00	\$4,200.00	\$60.00	\$12,000.00
33	Existing Sanitary Line Abandonment	1,360	LF	\$24.65	\$33,524.00	\$100.00	\$136,000.00	\$45.00	\$61,200.00	\$25.00	\$34,000.00
34	Existing Storm Line Abandonment	910	LF	\$69.76	\$63,481.60	\$90.00	\$81,900.00	\$45.00	\$40,950.00	\$60.00	\$54,600.00
	MPT, Insurance, Bonds & Misc.  Not ot Exceed 6% of total of items 1 through 34	1	LS	\$90,500.00	\$90,500.00	\$160,527.60	\$160,527.60	\$150,000.00	\$150,000.00	\$175,000.00	\$175,000.00
TOTAL	SCHOOLEY AVENUE				\$2,491,815.22	_	\$2,835,987.60		\$2,980,053.50		\$3,262,963.00

RLE Enterprises

James T. O'Hara Inc.

Kriger Construction Inc.

Exeter Borough Sewer Project--Bid Date January 31, 2025

ITEMS 1 THROUGH 35

Pioneer Construction Compay Inc.

Exeter Borough Sewer Project--Bid Date January 31, 2025
Bid Tabulation- ALTERNATE Wyoming Avenue South

Pioneer Construction Compay Inc.

Kriger Construction Inc.

RLE Enterprises

James T. O'Hara Inc

ITEM NO	. DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL
1	Test Pits	20	EA	\$2,100.00	\$42,000.00	\$1,775.00	\$35,500.00	\$500.00	\$10,000.00	\$5,000.00	\$100,000.00
2	15" SLCCP Storm Line	144	LF	\$170.00	\$24,480.00	\$167.50	\$24,120.00	\$400.00	\$57,600.00	\$1,000.00	\$144,000.00
3	18" SLCCP Storm Line	140	LF	\$189.00	\$26,460.00	\$222.50	\$31,150.00	\$400.00	\$56,000.00	\$1,000.00	\$140,000.00
4	LINE 24" SLCCP Storm Line	1,350	LF	\$201.14	\$271,539.00	\$182.50	\$246,375.00	\$201.00	\$271,350.00	\$225.00	\$303,750.00
5	PA DOT STD Storm Inlets	11	EA	\$3,595.00	\$39,545.00	\$4,000.00	\$44,000.00	\$6,000.00	\$66,000.00	\$8,000.00	\$88,000.00
6	48" Dia. Conc. Storm Manhole	5	EA	\$4,560.00	\$22,800.00	\$6,500.00	\$32,500.00	\$20,000.00	\$100,000.00	\$7,400.00	\$37,000.00
7	10" PVC SDR-35 Sanitary Sewer Pipe	20	LF	\$190.00	\$3,800.00	\$215.00	\$4,300.00	\$400.00	\$8,000.00	\$1,000.00	\$20,000.00
8	LINE 12" PVC SDR-35 Sanitary Sewer Pipe	60	LF	\$130.79	\$7,847.40	\$225.00	\$13,500.00	\$130.00	\$7,800.00	\$150.00	\$9,000.00
9	LINE 18" PVC SDR-35 Sanitary Sewer Pipe	1320	LF	\$163.77	\$216,176.40	\$192.50	\$254,100.00	\$164.00	\$216,480.00	\$200.00	\$264,000.00
10	6" PVC SDR-35 Sanitary Sewer Lateral	400	LF	\$240.00	\$96,000.00	\$99.50	\$39,800.00	\$270.00	\$108,000.00	\$1,000.00	\$400,000.00
11	Sanitary Sewer Lateral Wye Connection	25	EA	\$10,500.00	\$262,500.00	\$2,000.00	\$50,000.00	\$1,250.00	\$31,250.00	\$300.00	\$7,500.00
12	6" Sanitary Sewer Lateral Cleanout	25	EA	\$360.00	\$9,000.00	\$1,000.00	\$25,000.00	\$500.00	\$12,500.00	\$2,250.00	\$56,250.00
13	48" Dia. Conc. Sanitary Manhole	4	EA	\$11,475.00	\$45,900.00	\$6,500.00	\$26,000.00	\$20,000.00	\$80,000.00	\$8,000.00	\$32,000.00
14	Connect Ex. San. Sewer to New San. MH	4	EA	\$700.00	\$2,800.00	\$3,500.00	\$14,000.00	\$4,000.00	\$16,000.00	\$1,300.00	\$5,200.00
15	Connect Ex. St. Sewer to New St. MH	1	EA	\$700.00	\$700.00	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00	\$1,500.00	\$1,500.00
	State Trench Rest: 8" Subbase, 5" 25mm & 1.5" 9.5mm	300	SY	\$71.85	\$21,555.00	\$52.50	\$15,750.00	\$101.00	\$30,300.00	\$90.00	\$27,000.00
17	Local Trench Rest.:6" Subbase&4.5"25mm	230	SY	\$51.68	\$11,886.40	\$52.50	\$12,075.00	\$77.00	\$17,710.00	\$50.00	\$11,500.00
18	9.5mm Wearing Course, 1.5" - Local Rds.	230	SY	\$15.96	\$3,670.80	\$32.50	\$7,475.00	\$21.00	\$4,830.00	\$20.00	\$4,600.00
19	Concrete Walks	750	SY	\$92.00	\$69,000.00	\$150.00	\$112,500.00	\$207.00	\$155,250.00	\$130.00	\$97,500.00

Exete	r Borough Sewer ProjectBid Date January		Pioneer Construction Compay Inc.		Kriger Construction Inc.		RLE Enterprises	RLE Enterprises		James T. O'Hara Inc.	
Bid Ta	abulation- ALTERNATE Wyoming Avenue So	outh									
ITEM N		ESTIMATED QUANTITY	UNIT	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL	UNIT PRICE MAT. & LAB.	ITEM TOTAL
20	Concrete Drive Restoration	40	SY	\$125.00	\$5,000.00	\$175.00	\$7,000.00	\$202.00	\$8,080.00	\$200.00	\$8,000.00
21	Asphalt Drive Restoration	1,050	SY	\$78.15	\$82,057.50	\$100.00	\$105,000.00	\$84.00	\$88,200.00	\$50.00	\$52,500.00
23	Lawn Rest.: 4" Topsoil, Mulch & Seed	725	SY	\$12.00	\$8,700.00	\$20.00	\$14,500.00	\$18.00	\$13,050.00	\$20.00	\$14,500.00
24	Concrete Curb Replacement	1,400	LF	\$42.00	\$58,800.00	\$55.00	\$77,000.00	\$57.00	\$79,800.00	\$90.00	\$126,000.00
25	PA DOT 2A Stone Trench Backfill	13,000	TON	\$15.75	\$204,750.00	\$10.00	\$130,000.00	\$13.00	\$169,000.00	\$23.00	\$299,000.00
26	AASHTO #3 Stone for Unsuitable Areas	600	TON	\$47.00	\$28,200.00	\$25.00	\$15,000.00	\$21.00	\$12,600.00	\$60.00	\$36,000.00
27	Temporary Pavement	400	S.Y.	\$23.82	\$9,528.00	\$20.00	\$8,000.00	\$24.00	\$9,600.00	\$30.00	\$12,000.00
28	60" Dia. Conc. Storm Manhole	4	EA	\$9,800.00	\$39,200.00	\$6,500.00	\$26,000.00	\$22,000.00	\$88,000.00	\$8,000.00	\$32,000.00
29	60" Dia. Conc. Sanitary Manhole	2	EA	\$15,100.00	\$30,200.00	\$6,500.00	\$13,000.00	\$22,000.00	\$44,000.00	\$15,000.00	\$30,000.00
30	Spot Repairs per Detail SK1	10	EA	\$9,500.00	\$95,000.00	\$8,750.00	\$87,500.00	\$20,000.00	\$200,000.00	\$20,000.00	\$200,000.00
31	Additional line for repairs	50	LF	\$225.00	\$11,250.00	\$350.00	\$17,500.00	\$800.00	\$40,000.00	\$3,500.00	\$175,000.00
32	MPT,insurance, Bonds & Misc.  Not ot Exceed 6% of total of items 1 through 31	1	LS	\$47,243.91	\$47,243.91	\$89,528.70	\$89,528.70	\$115,000.00	\$115,000.00	\$150,000.00	\$150,000.00

\$1,797,589.41

TOTAL WYOMING AVENUE SOUTH

ITEMS 1 THROUGH 32

\$1,581,673.70

\$2,122,400.00

\$2,883,800.00